04" C509 FLG X FLG

04" C509 MJ X MJ

-—— /50—
‘ A . l 6 LO
2639 .
©9.00 6.00 2 f‘“@ﬁ < \
1 [ |
= 2X $0.88 HOLES  4.56
8 x 0.75 HOLES 4.50 2 X ¢0.88 SLOTS | jg/.j = |
ON ©7.50B.C. s ~| ON ©7.50B.C. L L
FLG END: "LO 94 MJ END: 1.13
ANSIB16.1 ' ANSI A21.11 '
CLASS 125 .00 AWWA C111 9.50
04" C509 TYTON X TYTON 04" C509 FLG X MJ
9 00 -— /.50 2.00 -~ /.50—
D 6.63 - ‘ h E 4.00 /é| T4 %}S\
i 6.00 | 2639 19.00 /@/\% 19.13 2639
S Ta Y , \ (@ |0
| ZW % / ZVOVO
Ot 2 X ¢ 1.00 HOLES | il g — Kl ‘
TYTON END: 33 e é{y \ ‘ —
AWWA C111 ° | \ 4. 56 4.50
l —_— — 2 X $0.88 HOLES g = ‘
819 2.13 -—3.75—+ 8 X »0.75 HOLES 2 X ©0.88 SLOTS ‘ UL X
13.25 ON (7.50B.C. ON ¢7.50 B.C. --1.13  0.94 -~
. 98]— FLG END: MJ END: 9 50— -
ANSI B16.1 ANSI A21.11
* * * * * * * * CLASS 125 ~ AWWACIIT 7 7
04" C509 FLG X TYTON 04" C509 MJ X TAP L
5 00 7 50 9.00 -
[ [ _! T (é/ ) 9']) 4 Il || /g{ﬁé ( - J > ¢O..| 9
$9.00 H 7 6.63 6.00 \i/ 7 $9.00 ﬁ\E $9.13 ) Lo S \
/ I _il g 2639 /6‘3/ : \a
.‘* 2 X () 1.00 HOLES | w-z""- * * %\f * *
77| IYTONEND: 3 g] Egjy ‘ . égy K 2 X (0.88 HOLES ‘ . ‘50
8 X (0.75 HOLES ANWWACTT ! L 4.50 8% 0075 HOLES\ 2X $0.88SLOTS 454 || ||| e 4.
O | ' > | ‘ = .

ON ¢7.50 B.C. l,! | " ON $7.50 B.C ON ¢7.50B.C. | |||FF ~{ \
FLG END: . L | FLG END: . — MJ END: | ---1.04 1.12—=-
é'['f\'s?]éz-;  ANSI B16.1 WA CTT 9.25

o o CLASS 125 R T I e ey m—
e
“Jlﬂﬁii?f | - Cew oo | T 1:3  Solidworks 2018 SP2 SHEZOF D




A B C D E F G H J K L M O P Q R S T \Y%
! 1
- - - - - ____— - - - - ]
2 2
3 3
L]
4 4
( | [ ] \ ) /&t{ ( ) 7/)\\
/
|
5 5
_ 6.63 6.00 _
L]
6 6
7 PVC END 7
AWWA CI111 " 7 | | 7
s 3 ° 3 ‘| 8
|
N—
9 ] 8 3 |
L]
10 10
11 11
12 12
13
14
15
16
17
18
19
20
[ROUGH PT NO. FINISHED PTNG
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 Q%”EEEEES(?P@%RDAE\%\(%[‘\XEN%O‘%LSJFBESA‘B&T\P‘OEEI ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REERENCE REVISION
| — CASTING TOLERANCES ACHINED DIVENSIONS OTHERWISE ARRANGED ALL RIGHTS RESERVED B |
0-4" +1/32" MATERIAL DESCRIPTION
8. . DECIMALS: +0.005 n M&H VALVE COMPANY
- 23| maCTONS: s 1/es 04" C509 NRS RESILIENT
) 812" £1/16 ANGLE: +1° ESTIMATED WEIGHT 2 SHEET SIZE|
12-18": +3/32" SURFACE FINISH: 125 pin
LBS.|WEDGE GATE VALVE
MIN RA’DIUS' - e DRW BY: DATE DRAWN: _ |CHK. BY CHK DATE SHEET SCALE SOFTWARE USED
WINORAFT: e Ccw  [12/1/2020 1:2 Solidworks 2018 SP2 | 4




O-RING PLATE WITH O-RING PLATE WITH INDICATOR POST PLATE
OPERATING NUT HANDWHEEL WITH OPERATING NUT

2.00 SQ. $10.00———— - 12.06
[T I I [T1 I
- ‘ ‘ ~
. y

14.59 15.21

T N T\ SV ma) N T\ = (L 1V e L 10.97

20

ROTCHPTRD RISHES TR
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CORPOR S SU . R RETERENC EVIION
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE : DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS [ REFERENCE (EVBION
CASTING TOLERANCES MACHINED DIMENSIONs | OTHERY! SEARRANGED. AL RIGHTS RESERVED B
0-4" +1/32" MATERIAL __________ |OESCRPTioN
. a. | DECIMALS : +0.005 n
“ 04" C509 NRS RESILIENT
812" £1/16" | ANGLE : £1° ESTIMATED WEIGHT T e e o o e |/ TsHeETsizE
S92 | e ooy LBS.| WEDGE GATE VALVE 3 >
. . | RADI : 1/8" .
-UP": +1
MIN RADIUS : 1;2" DRW BY: DATE DRAWN CHK.BY ~ |CHKDATE SHEET SCALE ] 5 R SHEETOF
MIN DRAFT : » CwW 12/1/2020 . Solidworks 2018 SP2 6




)

: 17 :
4 » 4
_ = ]
5 X 5
S
11
| W\/Ww 4 :
g \\C / EIN o 3
i SN | | 6 B
Y

: 4 .
| 14 / |
; 4 12 H / - \J B .

: D I] :
13 W
Ul W B
[ ]
I I
14 ' '
]
] T I i~ —] I
T — /\ | 1
15 \ ]
16
I I
17
18
19
20
ROTETPTT RSHED TR
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION
STANDARDS: ANSI/ASME Y14.,100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CC ’ S ) B T TEETE EVISION
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. BESTRUCHON REQUIED UPOR COPIETON OF IReCTeD Use untess [T RBH -
D 3 ARRANGED ALL RIG SER
CASTING TOLERANCES MACHINED DIMENSIONS —
0-4": +1/32" MATERIAL DESCRIPTION
48" +3/64" DECIMALS: +0.005 " M&H VALVE COMPANY
o e | S e L ] 04" C509 NRS RESILIENT
e = ANGLE: EN ESTIMATED WEIGHT SHEET SIZE
21 " . . S 21
s cosr | e e LBS. WEDGE GATE VALVE 4
18-UP": +1/8" RADII: y - - — SHEET OF
MIN RADIUS: 18" DRW BY: DATE DRAWN CHK. BY CHK DATE! SHEETSCALE ,l 5 SOFTWARE USED
: . olidworks 2018 SP2
MIN DRAFT > cw  [12/1/2020 S 018$ 6




VALVES CONFORM WITH THE
FOLLOWING STANDARDS

e AWWA C509

 NSF 61

LOW ZINC BRASS STEM AND STEM NUT
AVAILABLE

100% DOMESTIC FASTENERS AND
ORINGS OPTIONS AVAILABLE

OPEN LEFT (COUNTERCLOCKWISE)
AND OPEN RIGHT (CLOCKWISE)
OPTIONS AVAILABLE

TURNS TO OPEN FROM FULLY CLOSED:
12

AWWA MAXIMUM ALLOWABLE
TORQUE TO CLOSE 75 FT-LBS

OPTIONAL HANDWHEEL CAN BE

SUBSTITUTED FOR STANDARD 2°

SQUARE OP NUTS.

e *NOTE: STANDARD HANDWHEELS
SIZE CALLED OUT IN PARTS LIST.**

ITEM NO. COMPONENT QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS
1 BODY - CAST IRON DUCTILE IRON
2 STEM - C86200 C99500 (LOW ZINC), 304 SS, 316 SS
3 THRUST WASHER - ACETAL C26000
4 O-RING #212 EPDM BUNA-N
5 O-RING #331 EPDM BUNA-N
6 O-RING PLATE - DUCTILE IRON “*NDICATOR POST PLATE**
7 COVER - CAST IRON DUCTILE IRON
8 O-RING #437 EPDM BUNA-N
9 STEM NUT - C87850 C87610 (LOW ZINC)
10 WEDGE : EPDM/DUCTILE IRON -
DUCTILE IRON, C86700, **10" DIA.
1 OPERATING NUT - CAST IRON A NOWHEEL
12 HEX HEAD CAP SCREW 1/2+13 X 2" 18-8 SS 316 SS
13 HEX NUT 1/2"-13 18-8 SS 316 SS
14 HEX HEAD CAP SCREW 5/8-11 X 2 18-8 SS 316 SS
15 HEX NUT 5/8"11 18-8 SS 316 SS
16 WASHER 3/8" 18-8 SS 316 SS
17 HEX HEAD CAP SCREW 3/8-16X11/2" 18-8 SS 316 SS

+1/32" M M
ser | Facions:  fues 04" C509 NRS RESILIENT

EEEEEEEEEEEEEEEEEEEEEEEE

;j/;éz SURFACE FINISH: 125 in LBS.\WEDGE GATE VALVE

RADIE A | SHEETOF

DRW BY DATE DRAWN CHK DATE: SHEET SCALE SOFTWARE USED

/8" . .
’ cw 12/1/2020 1:5 Solidworks 2018 SP2






